Problem 2 Clarifications — Ref 3
1. Find Metastable Vms(t)=Vos(t->00, t) Such that V(out+)=V(out-)

1) Both Din+ and Din- have to be differential or 2) Din just DC voltage (ex 930mV)
This simulation without SR Latch
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Make sure that comparator is metastable as Vos settles

Either case we can get identical simulation result, and just do that takes less simulation time
Following result based on Case 2.



2. Measure Vms for varying ()
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3. Derive ISF
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This simulation with SR Latch

15171
| 3
< = = 7
) = i
p" 38m -5
A35me {|_ aqaln==4a85 [T
w1 =0 E*DWDD—25m 1'25_ !

w2 =0 B¥IWTOO4-25m Ein 75
@l tr=0.E1*1Arequ gom = 7]

k

10.0

T
15.0
time (hs)

30.0



S5F 0

This simulation with SR Latch

SSF ISF

— (fym axTEDin-"y - YT MW" - 0.008037) / ¢0.05801 - 0.008037)) — deriv{{{ymax (T /Din-"} - VT Wx"0 - 0.008037) / (0.05801 - 0.00803 7))
1.25 FO.0
0.0+
1.0+
50,0+
754
4.0+
il
-3 = 30.04
£
20,04
254
10,04
0
0_
—25 T T T _100 T T T T T
325 350 TR 400 220 240 260 2EN 400 420 440

del_clk (E-12) del_clk (E-12)



	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5

